8 I 7 I 6 I ] AV 4 I 3 | 2 | 1

INCH 49A118 ITEM | QTY. DESCRIPTION

4 1A-8063 — 3/4°-10NCx2.50° BOLT
16 8T-4994 - 3/4" FLAT WASHER
3B-4512 - 3/4” LOCK WASHER
33336 - 3/4" BEVEL WASHER
6V-8182 - 3/4’-10NC NUT
9X-8887 - 3/4"-10NCx3.00° BOLT

oL
ADhpO

! Q)
| |E _..I l | |- ::IT: .' “-Ll r:—rlF — _Tj_ = A LI + L) L ]l R
e i i R I
i | i == §j m— ="
i+ W ' I == At
-1 = | il '
=il 5 == o == __U L l I |
F pum A || || : 5 Tor I+ T | +
=N TTTT ol i . —— =
| o= -
% | L8| . . | © o | > }_J }r | A ):{
- sl Lll “:A z ¥ Ly “#_ ~
”Q! b a8 I s A | | 0 :_ _Z] '(_j'\} ————/AF —:—:H,; I/r_ '

A
N~
=
\ O
/|6“
]l
E
|
|
L2
A
9 |
'
ul_>l:
w [T

A
\d

NOTE: THREAD THE ENCLOSURE CLEARANCE LIGHT HARNESS ON THE
TRAILER THRU THE FUEL BASE RECEWAY TUBE NEXT TO THE
BATTERY GROUP. THEN CONNECT TO THE ENCLOSURE
CLEARANCE LIGHT HARNESS COMING DOWN THRU THE EXHAUST
DUCT ASSEMBLY.

ALTORFER POWER SYSTEMS
6315 W. FAUBER RD. PHONE (309) 697-1234

BARTONVILLE, IL 61607 FAX (309) 282-7546

DATE
BY

THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION OF ALTORFER, INC. VITHOUT THE WRITTEN PERMISSION
OF ALTORFER, INC,, ANY COPYING DR OTHER USE EXCEPT THAT FOR WHICH IT WAS INTENDED IS PROHIBITED

ANNAANANANANNANN

vV V V V VYV VYV YV YV

i
ALL DIMENSIONS IN INCHES[F B PROJECT REF ERENCE
UNLESS OTHERWISE SPECIFIED DF/49A APS150 RENTAL PACKAGE

TOLERANCES:| THIRD  [SCALE/SHEET SIZE DRAWN BY QUOTE NUMBER
X.X + 0100 ANGLE
X.XX % O.EEO PROJECTION 1=15/D B. LOHNES -

XXXX 0. SHEET DATE WORK ORDER NUMBER
ANGULAR # 1* @ = 10F 1 02-10-09 -
TITLE DRAWING NUMBER

Ll e APS150 TRAILER MOUNTING GROUP 49A118
B | 7 | [3 | ] AN 4 I 3 I 2 I

VIEW A-A —
SCALE = 4X SCALE = 2X
TYP. 4 PLACES

CHANGE NOTICE

NO.




